
TAULUKON TULKINTAA / NORMAALIJAKAUMA 

 

E.1. Kuinka monta prosenttia normitetusta normaalijakaumasta on 

varjostetulla alueella? 

z = 1.04 

a)  85.08 

V: 85.1 % 



z = -1.53 

b)  

100% - 93,70% = 6,30% 

V: 6,3 % 

z = 1.53 

93.70 



z = -2,17 

c)  

V: 98,5 % 

z = 2.17 

98.50 



z = -1,34 

d)  

90,99% - 50,00% = 40,99% 

V: 41,0 % 

z = 1.34 

90.99 

z = 0,0 



E.2  Määritä z 

a) 

72% 

V: z = 0,58 
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b) 



80 % 

V: z = 1,28 
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c) 



V: 90,99%  



Rajan alapuolella: 

85,54 % 

Yläpuolella: 

100% - 85,54% 

= 14,46% 

 

V: 14,46% 

1,06 



V: 84,45% 



V: z = 0,67 

80% 

z = - 0,84 



88,30% 

1,19 

100% - 88,30% = 11,70% 

z = 0,65 => 74,22 %  

0,78 

=>78,23% 

100% - 78,23%   

= 21,77% 

74,22% - 21,77% = 52,45 % 



z = 1,70 

=> 

95,54% 

”sininen osa” 

100% - 95,54% = 4,46% 

2  4,46% = 8,92% 
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z = 1,96 


